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1)

Expand the product as shown in example a).

a) (c+e)b—a)=cb—a)+elb—a)=—ac— ae+ bc+ be
b) (a —b)(c+d) =a(c+d) —b(c+d) = ac+ ad — bc — bd

) (b—c)la+e)=0bla+e)—cla+e)=ab—ac+ be—ce

d) (z—z)v+y) =zw+y) —zlvt+y) = —ver+vz—ay+yz
e) z+y)(w—0v)=2zw—v)+ylw—ov)=—vy —vz+wy+wz
£y (y—v)(x+2)=ylx+2)—vr+2) = —vr—vz+ay+yz
r+z)=ylr+z2)+wlx+z) =wr+wz+ay+yz
v+2)=ylv+z)+wlv+ ) =vw+ vy +wr +xy
+0b) =ale+b) —d(e+0b) =ab+ ae — bd — de
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2) ( )
h) (y+w()
(b+c)=a(b+c)+db+c)=ab+ ac+bd+ cd

i) (a —d)
i) (a+d)

2)

S~

Expand the product as shown in example a).

(a+c)(a—6)=ala—6)+cla—6) =a>—6a+ ac— 6c

a)

b) (e +a)(a — 18) = e(a — 18) +a(a — 18) = a® — 18a + ae — 18¢
c) (e+4)(a—0b)=e(la—0b)+4(a—0b) =ae+4a—be —4b

d) (a+e)(a—b) =ala—0b) +ela—b) = a® — ab+ ae — be

)

e) (c—a)la+0b)=cla+b)—ala+b) =—a’®—ab+ac+ bc

f) (3:+w)(v+6)—x(v+6)+w(v+6)—vw+vx+6w+6x

g) (a—2)(a+b) =ala+0b) —2(a+b) =a®+ab—2a — 2b

h) (c+d)(a—0b) =cla—b)+d(a—b) =ac+ ad — bc — bd

i) (w—15)(v +w) = wv +w) — 15(v + w) = vw — 150 + w? — 15w
j) (e+c)(a+b) =e(a+b)+ c(a+b) =ac+ ae+ bc+ be

3)
Expand the product as shown in example a).

) (v+w)(v+15) = v(v + 15) +w(v + 15) = v? + 150 + vw + 15w
) (@ +12)(a — 39) = a(a — 39) + 12(a — 39) = a® — 27a — 468

) (z+15)(v —w) = z(v —w) + 15(v — w) = vz + 15v — wz — 15w
)

)
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(w+v)(v +13) = w(v + 13) + v(v + 13) = v + 13v + vw + 13w
(x+2)v—w)=2v—w)+ z2(v —w) =vr+vZz — WL — W2
) (b+d)(a+49) = b(a+ 49) + d(a + 49) = ab + ad + 49b + 49d
g) (y+2)(v—w) =y(v—w)+z(v—w) =vr+vy —wr —wy
h)(w+z)(v+w):w(v+w)+z(v—|—w):vw+vz+w2+wz
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Solutions to smp-1595-3/SZGV

i) (c+d)(a+0b)=cla+b)+dla+b)=ac+ ad+ bc+bd
i) (d4a)(a —b) =d(a —b) +a(a —b) = a® — ab + ad — bd
4)
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Expand the product as shown in example a).

(d—a)(a+b) =d(a+0b)—ala+b) = —a® —ab+ ad + bd

a)

b) (¢ —d)(a+b) =cla+b) —d(a+b) =ac— ad+ bc — bd

¢) (v+w)(v—w)=vlw—w)+wv-—w)=1v>—w?

d) (b—19)(a—b):b(a—b)—19(a—b):ab—19a—b2+19b
) (v

(w—2)(v—w) =wl—w) —z2(v —w) =vw —vz —w?> +wz
(a d)(a+4)=ala+4) —d(a+4)=a®+4a —ad — 4d
)(v+w)—w(v—l—w)—v(v—i—w):—v2+w2
d)(a+b) = ala+b) —d(a+0b) =a®+ab— ad — bd
z)(v+7)—:U(v+7)—z(v+7)—vx—vz+7:c—7z
(v—"5)(v+w) =v(v+w)—5v+w) =1+ vw— 50— 5w
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Good Luck!
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